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[ Bl 1)
FoREFSIR

2
3 7‘%{3'

Ans : 29

G
Fiisk =2x7-35 § =2¢.

[t ]

2 -5 29
3 7

[ 1]
RIFEFTHIE

3 _
> ja@fa.

Ans - 10
G
Fik=3x4~2 o 3 =LC.

[ fsE]

3 1 10
2 4

[BIRE 2]

26 39
RITFIA

35 53

-

Ans : 13

G
MATFIANTEE, 5
‘26 39‘_ 3‘2 3 2 3
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35 53 35 53 1 2

|=13><(4—3)=13 .
(]

http://114.34.204.87/moodle271



0k334 & % &1 = p¥ {7 5 3¢

20 39 13
35 53
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N

789 788 i -

Ans : 333

G0
MIRTHIIATE, &
|456 455| |1 455|
= = 788455 = 333
789 788 [1 788 '
[t

456 455 333
789 788

[ B 3]

2a+5b 3a-4b
[ i

=2 , >
RS 2c+5d 3c-4d

c d M -

ab‘

ANns : —-46

(%% ]
FHA T AHE, &5
2a+5b 3a-4b
2c+5d 3c-4d

2a 3a—4b+5b 3a—4b
2c 3c—-4d| |bd 3c-4d

2a —4b
2c —4d

5b 3a
5d 3c
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a b
c d
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—_46 .
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[ & 3]
a b 2a-b 4a+3b
=57 b N .
E‘I%Dc d‘ _EZc—d 4¢ +3d HE
Ans : 50
(5% ]
A BTy EE, 5
2a—b 4a+3b
2c—d 4c+3d
_2a 4a+3b+—b 4a+3b
“l2¢ 4c+3d| |-d 4c+3d
_2a 3b+—b 4a
“l2¢ 3d| |-d 4c
2.3 PlcayaP @
c d d c
=6-5+(—4)-(—5)
=50 .
[BIRE 4]

BXla =(-4,3)8 D =(6,t) T, REBHIHE .
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9
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fi s 5 -

http://114.34.204.87/moodle271



ok334 & ## 22 = FF {7 5] &

[%RE 4]

2t
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KEBHNE .
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2
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[BIE 5]

ﬁﬁﬁmwﬁﬁﬁmmgﬁ{zmy:‘l

3x-2y= 8

Ans : x=2>y=-1
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2 5 -1 5 2 -
A= =-19 e =-38 A = =19
o s e el e,
Bt LA
A 38, A 19
A 19 ’ A 19
[ et ]
X y
2 5 -1 X=
3 -2 8 y= -1
(&R 5]
o 2X+3y=5
{58 Fl e 35 N AR B 1L 5 8 5 :
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[ 1% 6]
E%D%ﬁiz?ﬁiiﬁ{aiﬂblyzclﬂ’ﬂﬁﬁﬁ;xﬂ, y=2,

axX+b,y=c,

2bx+ (2a,—-b)y+3c, =0

REPILITEA {2b2x+(2a2 ~b,)y+3¢,=0

Ans i Xx=-6>y=-6

[

=il g

]

N o a1x+b1y:c1 KA P
RABIL IR {5 oy =0, 187 —HLHE,

2, b

a, b

0 A =

Py X

A=

LA, A
E_/%E A ’ A .

S o 2bx+(2a, b))y =-3c,
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2 2a, — 2 2 2 -
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— - +
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c C C C
_ g% A gl% Bl_ga Gl 4G b1=6Ay+3AX
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[ 6)
E‘%DH“?-XL??F”G{%HM A x-2, y-5,

+b,y=c,

4a,x—5by+6¢, =0
?H‘Jﬁzﬁ%ﬂﬁ{ %X~ 5hy B .
X—5b,y+6¢c, =0
Ans : x=-3°>y=56
5z ]
ax+by=c -
B Bt 17 7R {a2x+b2y:cz I — 4R
Rl A=, &
Al BlLg A ofa Bl fa s
a, b, ’ c, bl 7V |a, ¢’
A A
3 x -9 Y _g§5
H/ﬁg)@ A ’ A .
P~ 4a,x - Sy = -6,
ST SR B TR SR B | 4 by = 6,
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A _|—6c2 —5b, =(=6)x(-5) ¢, b =304,
P e RV =208,
4a, -6C,|
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A —20A 20 ’

A, —24A
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X
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R B HIERER T x=0, y=0 Z4MNEF HMATE,
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RREBKNE, SwmBirTEN
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G
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— — y
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ok334ex
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992 993
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5 -2
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Ans: (1) 26 (2) —2 > (3) -89

[EFiz ]
5 -2
(1) — 5x4— (=2)x3=20+6=26 .
3 4
990 991 1[990 99
() — —990x2—9921x2 =2 .
992 993 |2 2

V2+53+4 53
J2+5y3-4 J2-4
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Ry ? [99 22741
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Ans : 32
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a b a b 3c—2e 3d-2f
i =2, =5, 3
e d‘ e f‘ x 4a 4b
Ans . 16
[z )
3c—-2e 3d-2f
4a 4bh
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3X+2y

4
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H1E .
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(B)x2+(4) > ba=-5=>a=-1
Ela=-1>b=3-

6x+(k—-2)y= 7k-17

E%Hﬁﬂﬁ%ﬁ{(kw)x— 2y=-8k—24"

HbkRHER .
(1) BB TR EAE, Ak ERA?
(2) BB T EAFTER AR, AlKAVERM?

Ans: (1) 2 (2) -1

[aFfE]
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6 _k-2 7k-17
k+5 -2 —8k-24
= (k—2)(k+5)=-12
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= k=-2E k=-1(F5&)
(2) HQ)%1 > F= LB H R A HIR 2 4H 7
Al k BY1E Fs—1 -
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1+2t 6
= —=—
2-t 8
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PREEEE L4 ERIR A(L0)BB(0,1), NERSBIN=H/
P(7.1), Q(-3,6)8R(2,1l0g,32) . A PABKIEIR A p .

AQABHIHEME q. ARABIIE B Er . [99 2]
oA [ T 51 5F— {2 I 2 IERERY ?

D p<g<r. (2)p<r<q. @)g<p<r.
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[aFfE]
loge32= 10982 _51002 5 4o pin, Dy, | P:(3.14, 1.00)
log4 2log2 2 2
o - | Q:(-1.73, 6.00)
B4 ABHIRI R F—1># AB i x+y—1=0- R: (2.00, 2.50)
— 1-1 =« I
—d(P- AB)=Z2"22_ 7,
p=d( ) NN | R
q=d(Q AB)— V3+6-1 5.3, P
V2 J2
AY t t t
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V2 2
n=3.14 > 5— 3 =3.268 -
Fp<g<re

ARHESETE E=BE A(-12), B(4,3), C(2k+1Kk) .
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Ans : (1) 682 (2) 4

[z ]
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AB=(5+1)> AC=(2k+2 k—2)"

5 1
1) a ABCE’J@%@%% | ‘ ‘ |

2k+2 k-2
= | 5k—2)—(2k+2)| =6

= | 3k—12| =6

= | k—4| =2

= k=06 8¢ k=2.

(2) %A, B, C=%Eiftay
= | k—4] =0
= k=4.

B
10, amﬁﬁxzﬁﬁzﬁ{jxfﬁﬁ R X=1, y=-2,

3bx-28y =66

S‘E%ﬁjﬁ%ﬁ {3bzx _ 2a2y = 6C2

Ans @ x=-4, y=-3

(¢ ]
Cl bl al Cl
{a1x+b1yzc1 — x= c, b =1, y= a G —_2
a,x+b,y=c, a b a b
a2 b2 a‘2 b2
3b,x—2a,y =6¢, \
{szx —2a,y =6c, R
ch —531 _12 G a4 5 a G
C, —4& C, & a G
X= = = =2x(-2)=-4.
B -2 b oal [a b
3b, —2a, b, a, a, b,
B 6| s o b
y— 3, 6c,] b, ¢ e, b — axl—_3
3 -2a] b oal [a b
3b, -2a, b, a, a, b,
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2x— y= 1
xEHa>0.Ex, yHNBIZGTER x-2y= aF#,
X—ay =122
Bl a= . [99 23]
Ang : 14
(4]

Ox2— @ = 3x=2—a"
O—-@x2=3y=1—-2a-
£ A® 3x— 3ay= 366

= 2—a—a(l—2a)=2366
= a’—a—182=0

= (a—14)(a+13)=0

= a=145 a=-13(‘"(A &) °

AAEESPE EA—EFTIUEE ABCD, H gl ARYAER
(21), BEBHVALEER (8,2), BEiCHESE—FIREMHE x &L
B 12 . EEA{TIUEBE ABCDITERIREE R 38 SETE ML,

R DAVARAR Ry . [992H]
Ans - (6,8)

[EFz ]

W NE - 8% C(12 > y) » K ABCD R-F17IUETE -
i D6 y—1)-

B4 AB 1 Xx—6y+4=0">
6-6(y—-1)+4 [16-6y]|

&

d(D > AB)=
AB = 37 -
SEATIUER, ABCD Y HE FE A E D(6,y-1)

Mxﬁzss
37

Nad

— |16 —6y| =38 B(5.2)

C(12yy)

A(2,1)
— 16—6y=238 5 16— 6y—=—38 il
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= y=95 y= -2 (F &)

= D6 8) -

[ 567]

AB=(6>1)> AD=(4>y—2) fI
SEATIU . ABCD HY I &

_‘6

4
. 11
= 3y—8=%19 > y=9 5[ y= —E(Ké\) = D(6 8) -

1
Hz |6(y—2)—4|=|6y—16] =238
y—2

EAIEHAEE 2 80 FRHATTISERE 4,

REEE a+ b #3a-2D BriRHe P I s ER .
Ans @ 20

[ )

Ba = a) b =(b bl

— — a
a><b=‘al 2 =4
b b,

—

?‘F b :(a1+b1 ’ az+b2) ’
32 —2D =Gai—2bi * 34— 2bs) »

AR a+ b B13a—2D FriE Ay 1T IR Rk B

| a1+bl a'2+b2
3a,—2b 3a,-2b,

— a+b, a,+b |
Sa, 5a,

http://114.34.204.87/moodle271



26

14.

0k334 & % &1 = p¥ {7 5 3¢

— 5a1+b1 a,+b |
a a,
b
=5 | ‘bl 2l |
a 4,
= 5x4=120.

ITHAEFHEZEZHREER, AREE=OHEERD .
MR, ZZRGERBIE, AR 12/ MRLHE
RAEEGHS 4/ R, TeR T LIEHZEERERTRL,
BHFE 24 /N A REE TR Em . HORRFEZ
LER, MRSV INELFEEE=SFEEM® .

Ans @ 30 /NHE

G|
AR XN - ZAEESFT Yy /NF o |l
1 1 1
;+§:1— ...... (1),
ﬂ+ﬁ:l ...... (2)
Xy
(2)—(1)x4
0_, 4.8
y 12 12
= 8y=120x12
= y=5x6=30.

REE 2B ES, A 0 /NRAEAE=HEEM .
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15. E#&RRK I3SWIE=AF ABC FXE5HIN—% P> Q R
fE%F APQR PR —FTIUE » AW TE TR - &P THUEP

APQR HYER R 2043 » HIME: PREVERE R 27 - (83 101]

A
P
B 0 C
Ans : (27) 7
(5% ]
APQR 55 FATIUETE >

ZPAR = /BPQ = ZQRC = 60°
= APBQ - ARQC BIF=AF
%ﬁ:x ’ @:ﬁzl’&—x

AAPR=%M???IEIE%% APQR i

- %(x)(lS—x)-sinGO":%(ZOﬁ)

x> —13x+40=0

(x-8)(x-5)=0

Xx=85 5

. PR=+82+5"—2.8-5-c0560° =+/49 =7

U

U

U
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